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Question 2
H(3)-H(2
{a) H'(3.5)= HO)-HQ) 1 : answer
5-2
= ﬂ+ = -2.666 or =2.667 degrees Celsius per minute
10
b L H{(r) dr 1s the average temperature of the tea, in degrees Celsius, | : meaning of expression
10 2 p Z 2 p
over the 10 minutes, 34 1: trapezoidal sum
| : estimate
1 o 1 66 + 60 60 + 52 52+ 44 44 + 43
=l H{r}m.,m(z- 100, 3. 00002, 4. 2040, B )
= 35295
10
C t)dr = - =43 -6b = - > value of integr.
}UH'J H(10) - H(0)=43-66 23 2.1 alue of i al
The temperature of the tea drops 23 degrees Celsius from time f = 0 to 1 1 - meaning of expression
time ¢ = 10 minutes.
10
= 4 1) di = 34. 5 - =8 : integran
d) B(10) = 100 UB' dr = 34 18275, H(10)- B(10) = 8.817 1:1 d
The biscuits are 8.817 degrees Celsius cooler than the tea. 304 1:uses B(0) =100
| ; answer




